WORKING CAPI TAL ESTIMATES

Subject martey of thig chaptrer

% TO UNndey &and dhe Subject martey of this Chp,
ene 2hould Hrst undevrgtand dhe Afollowing

B/<
diability A gLetf
Eajuity Fixed Agete
Current A Keis
Debt * Raw Mmarerial
% -1t P
cuvtrent Liability | « Finigwed goods
% Debtor
»% BanK

K W 4ap mMmeany
% Tn dhe balancegheet we will have a et namely
e Fixed agreiR and
¢ CUTTENt ALLEC Namely
% Raw matenal ¢iock
% WOTK — In— progre ¢ Lock
% Finighed goodd g<ioek
¥ Debon
% Bank-
*+ Al the axetrs ave Nothing but money in borm ot
aketg. Fovegs
A) wWe have a tand worth T ot we
call it pyoperty held aL investment
but one hould uvndergtand blockage
OfF I |\0OCA money.
) We have (Okge 1AW matemal ot X 10/kg
in ¢moek. we ghould under¢tand that 100
money i< blocked-
Theve fore, one can conclude that all ake are
nothing but Hund that ig blocked-



% To Genesate axek, We need to vAie MONLY fstm

- Equity
Debk
cuvrent Liability

% cusvent agets g algo called ag "working aapital
becaule, it i gnanced by both eguity and
alto debt - Equuity and debt put togethey i< calied
ok "ceapital'' T that capital @@ uled +o tund

day — to —day veqgurementt like gtock, we call
It ag, working capital -

¥ Eyewy Year, company will ectimare i€ weap
yewitement - company hat to maintdin [ikely
ba\ance Of Taw matenal €rock, delbton £ Cagtw bal
ete. That el¢timate will be made omn the bagic
o £all. move the galr, morve The current aei
and Vice \Vevia:

% Thie wWap ig generally binanced by the
bank l(oaws- Bank dconctiongd @p |®al: For
thic bank agkd Ho¥ budget on wcap-

% Tak, wWe hneed +o budget vawW marenial ek,
W I'P gtoek, FEY Lok efe: we need TO Thua
budget ¢A and cL.

% Lo, pvepavation o a . cap e2nmaie| budget
which 1€ 4o be gubmitted 4o +he bank 1€ the
2ubject mattey of JicVEs oM in thig chapter.

% Hence, we need to pyepare a wlap budget and
aubmit to0 the bank, om the baung of which a
cextain 4t of budgetred amount will be given &
A cofw Cyedit [/ wtap Loan [ 0-D Ftacility.

. gince (¢hl Sm didnot pIovide enovgh guet
oNn batk, we will Prit goNe Come <Lely-made
c\luttration -




Raw Practical Lely made

D uLtsah ong
makmal |- eudgeted producton = 60000 ONIK
Valuatiom RN COMLUuMPHoM Junit = KRG
cCoLt oy RW = FY/Kg
RmM ho\ding pexvod =  Qmnonthe.
SolJution 3
manal congomed = 6000DUNIE X &Kge
= 180,000 KK -
ghock of Taw matenal reauived
company evenly maintaing 2 monthe rauw maxral
in gtock:
l) 20,000 K > lamg
? < ] ML
= 0/000 KPP
value of raw maxnal Ltock
RO 000 KPS Xiq = ig@,a‘)o-
Raw marenal <hock =
AMuUal congom ption(@ry) X Purchage pnce X Rm HP
IR [ 368
= 1,820,000 K X T 4 X &
= E%O/OOD
m@an'\ngo
® Al

Hhe number aboNe arve Jjurat eztimaie’ [ budget
% That meany, compony iL Erimared +o concume
11&0,000 Kk o RM-

x company hat 4o keep Some amount Of RmM in
gtock: Tt 1L AlwaAYK feft 4o dhe digcreHon of
companylc policy ag o howo Much amouvnt of Stock
ot Rm Lhould be kept itn waorenhouse- Tt jg oftien
expre Red in +€sme of No-of- months conguomption .
Ty the given gquedtion, it i€ Kmonths concom ption

% Ty “otal congomprion i< [;&0000 Kx pa, for
amontu it ig 0,000 Kot CASKUMNLd +hat RM



¢ evenly dig® bured 4hrrough out the Year.)

¥ S0, Company <chall maintain that &oooo kgt at
a\l the +nek dunng the year ar Rm LYoek: For
that we go dor a bank loan. Lo, amovnt oOf loan
company €Xpect & Q0,000X = ZF &o,000- Lo, CO
need 4o I 20,000 capital do keep Rm Lioek in the
Liore wo0m:

3. Egfimated pyoductom 60,000 VNI
Rm cott Junit g 8[-
grockh pemod = QAmonthg.
Zolution
Altexnative formula
Mmaterial condumed ()X RMHP 60,000V X & X 31>

—
——
-—

—

n

f

1R[368 Z £0, 000

Fa'e 3. T bvation on Hnighed gooda gtock
valuation Patticulaw pey UNit

Raw maremal EEs

wagex XY

manb—- O KH Cincl depn ) 23

Admm 4 Lelling expendel 33

Ttal cott p.0O. 1<

F&'S holding pernod = &month.
production pra (ecHmatred) = 60,000 VNI
caltulat  Stoek ofF F&'S in following 3 cases
cage | @ when no indormatom 1< given-
cosre 2% Stoek  valuarion @ cagw CoLt.
care 33 guyek valuahion @ prime colt.
A -Solurnom — care I
% The company har decided o Keep amontiu pzod
in 2toek oF F&Qe-
¥ F&oni€ = Annual pod (Unifk) X RMMP
= 60,000V X R|1Q = 10,0000V. !




% FA'S value = 0,000 OX TIR = I 10,000

elling and Admn or e not congdered &ince

it ¢ incurved o lell FHe not +o produce.

B Solution — Lare R

® e donot need dapital for funding Nov coky

expensdet becaure, they are Not going o be gpert:

% Theve fove, Nnon — caxw e Iiie depn ¢hould be

excluded while calculating F&¢ ualue.

Fae value = (0,000 0 X (FIR-X 1)

= F 110,000

c- Soluhowny — care 3

¥ TNi€ model Teauirver us to value Fieg at

onme ¢ oLk.

F&e valye = 10,000 U x (ITE+IY)

= QQO/OOO'
>(Chotes )
I The FG¢ 2fock cann be calculared al {folloud—
Fae = Colt of produchon x FHHP

1236

I

No o - Onit [, coskt ,, F&nrP

PrOduced A AN YT

(oR)
FQe = Ca¥w COP x FHHP
1R /36K
CoR)
F&es Prime COP X F&HBP
12 [3bs
WPy WP HP = . montha.  Cton gdey banc
Valuation core — |\ into from @3
W' P 1L 0% Complete

core-

W I'P 1L %°h Complete as o MmakeYialk

w:1I'P (L b CcOompltte at to wWagek.




cose =32 No Indo given.
Solve o4 pexr AD Total Cost model b) akh coct model-

olution ¢-

gituafion -1 - 1otal Cott appsoach
care \.  bo°/le CcOompPlete
O No ok Uni in w'P - Total production x WIPKHP
\9_)3b&‘
= 60,000 VX OS /[y
= Q,¥p0 unik.
b Cal¢ o5 cot- O wI'P
Mmarnmal = T EX\00%% - T S-00
LAOWT = T UX60% = FRAYO
O H = R3IX6O%h = Z &0
2A0
TOta)! Co&t= TAQO0X R, $D0VNIR = T R3,000.
cose -4 maremall ol & LAbouy 60k
Mmarnal = Z SX3B0% = T 4 00
LaboutT = T UX 0% = TRYUO
O H = R 3X60%h = Z %O
23'R0
Total cost = T &-ROX {00 VNI = TR0, DO.
case —2% NO indo given.
Mmarxmnal = T Xl = T £00
Labour = T U XxLO0% = T Q00
O H = R3IX% = g 1180
2 8D
Total cogt = T &L X JYLoo 0N = T1,250.
> (Chiotes )

¥ when NoO Info i€ given, we agume LOP o be
S0 comptete CICAL A& s&um phion).

* 2ut, maknal i€ alway bted at the beginnin
ot ProCek, Lo it & alwayyg aLumed aL (oo%
complete vntel gpecitically given in queLtion:



Zituarion -] — cagh Coit approach
AN calclarions ase Lame expect that replacw
F23 wWwith I In oy calculanon (excl depn)

DebihpA | & AKume the Lame fack of @3,

NAaluation % Debt collection peviod = amontiy
.y Caf\h dalek = 0°%
% 8P = 3 R0O.
goluhion ¢

peoron (UNR) = O,000 LNiK X &I\a/;cxeditsate&
= 10,600 ONIKR X 80% = €,000 NI

Thig 2,000 OnNI it IN godown, we call it FH'<and
v wth Ccwelomer, we call deboxnt.
A) Lale’ approach / Total approach 2

DU = €000 UNIIKX TR0 = T 1,607,000 -
b) Total Ccost approach

DA = g[OOO UY]\“\'Q X 5)3 = ? \,&O/OOO*
CH caxih Cost apprvoach

D= 8,000 UnNiR X Tl = T [)1g,000-

(vediloA | & ARume 2Lame fact€ of ©3, addl info ——
valation  xcyedit pexiod = Xwg
% Cofh PUTCNhAAER = R0%
% Time |lag 4or Payment of expensek = Imonth.
ca\e ¢x< fovr  RM and oTheYy ex pencek.
Loluton ¢~
CxediA dependd on  pu¥Chaler nott om the
congomption . Ty nothing i« Laid othexwice,
congcompHten = pyyChaces.

o Cx¥e = Credit purchaseg x CP credi o
12/ 365 — for
= 60,000 0N X TS X20% X &I  goolk
= 3 y60,000. Y
Cred(t

pUrCchage.



b- Cyediton foy €xpeniel
Tt & Laid that Hme lag i< tmonth which
mea, alway | month expence i< outgtznding
gince RM credioM  ig aleady cong deved we
will not congider it again: moveovex, depn cant
have cryeditoA:
Expences [unit = T YT FRI+T+IX3= T
ANMNUAl e XPENCeA = 60,000 UNIK X G

= 5 St 4o, 000
CxedtiDh oy expence = X Sr4o,000 X 113

= 5(\,3/000-

with thi¢ we have completed all itemL of
current aLete [ w-capital:

. Payppoted production = 600,000 Onit.
ottt Lheet SUMmMoay

Particulgn Colt PO Pyt culaxt colt prU
Raw mairenal Zlo. 00 Total Cost Q000
Divect wage T & <O proft T £-00
oNeEY headk R # K0 Selling pnce T ’L00

Cincl depn Fo-asho)
othey detallk
* company holdg amonthe RmMm Lok,
% 'l montha Prbduction (N wIP Sioek.,
* F& Stock wemain for lmonth.
% Csedimon for matrtmal extend (month credit-
% Deblon — Q@ monthe Credit .
¥ MINiMumMm Caklh balance — I E,000.

Fovecoat the w:lap vea ulrement:
Coluti om

P.T.0



Starement of workiNng capital etimahon

U covcucs B o~ B oot

approacy) A- Cusrent ALLeRe
() Raw matemal

0,00, 000

|

(O - [P Q 3, 5,000
(L) Fini ewed goods ) |0y 00,000
(fv) Deblon Y 25,00, 000
(VW Casn toalance < AS) 000
TOCal - 49,00, ©OO

B. Curxvent Lidbilthe
crediton <,)00,000

C: wWorking capital
CA) - (CB) 4,000,000

WOoTIKing NOHER &~
L Raw matrermal

Raw matemal = 6,00,0000nNnit x 10X 13

Q w1 P
Wil P Cunikk) = 6,000,000 XO' X
R
= &%,000 UNiK-
costfonik
Mmateral = 10X\060% = FI0-00 Zince nothing i<
LabOuyY = QDK%= F RS aaid in the qyuetion
o3 = FOXS0%= F3IAT it 1S ALumed Xo7%

TIS 00 comptetien fox Lab
L 6H 4 Mmal @ 1007 .
wiP vawue (4ot Hnancing)
RE0OD VNI X F1L= T 37000




3: FinidMed goodd
o.Fh ONiK = 400,000 VNI x 1o

b cost Junit

Mmatenal = Fl0'00
Labouy = F & KD
oH = ¥ §.L0
Total = TR0:00

C FO'S yalue
L0,000 VNI X TRO = T 10,060,000
4 DebtoN
Laleg X DcP
BEY
600,000 VNI X FRS X >[I
3 &S/OO/ 000D

n

(bR)
unit€ with lwtomer =  4,00,000 LX RN
= |,OO/ o000
D value = ;00,000 VX FS = FL00,000

S- Cyedi fon
Tt (€ agumed dhat dpPurchaLel = Loncomphion

and all puschazer are credit puvcthateS.

Cyedit puvchaler = 600,000 UNjiK X T Io
= ZF0bo/00,000

Cyeditont = Cvedit purchases X CPP

Y

12
= T H60100,000 R 1o
= 5 <£,00,000
Tq .
Cokn Cost| I+ wCap — total appyoach = T §(00,000
approach - Depn in wI'P = (T 3,12%)
(Tndivec (RS;000UKD QS K $O7)
method) 2+ Depn in F-Gg = (I Q) $00)

C£0,000 UX ORK)



g Depn in Dw =~ (7% Q5;000)
Cl,00,000 X0'A@Y)

- profit in DN
C1,00,000U%X £)

(g <,00,000)

w - Ca P = 3 38, S"qr3=f§
2. compre hekive (lIug tsation — Cathy Coct batgs
Co = XU

- GO POt margin ¢ Ro%.
- Depn 1< part of CoP-

Sabety wargin - 18%

. Caxw — %X0% of cCuvyent liabilitier
L. No w-\+P
9.&mwck o RM4 Fac @ 'm holding.
h. othery indo —

NneEno D

Pasticulan Amoont ()
Sales — am <yedit QF, 00,000
Mmatenals congcumed (ams credit) 6,5 $,000
wageL ( paid L& oF next monthd £,40,000

Mmanugactunng expenser payable 60,000
at the end of year
(Caxv ex pensea—paid 1'm oryeo)

ARdmn €xper (paid axr above) 1) 80,000
Laler promotien — paid 40,000
puasterly 4« in advance

Solutionm ¢

Egtimatien of wovrking capital

A CUTYent ALK
() Raw Madenat | £b,0
(&) Fini gned goods 34 161,20
(c{HPeblon 'S 3,67 00
(Ev)Pre - paid expense 6 28 00
cv)lash loalance o)

[,«\b/&.’fD



TOtal - Q3,180

B Curxvenk LiAbilrhie’
YCrediton 4oy goodk W1 Koo
() of¢ wager 2 4L 000

(L) ofc Mmant-eXp<  Giiven 60,000
(V) of¢ Admn- exp ¢ 9 5,000
TOtal <3 L0O
C- wortking capital
CA) - CB) L{Iq],&..go
D Cadery margin (D\s7% 3, b8 4
E. TOtal w - aP Tequirement <1 64493¢
Cc) + (D)

wotking NoteR !
- RAW matemal ¢
Raw maremal cong omption(onik) x cogt(grﬂtx Rm HP
afven 12m
= T 6,945,000 I[n = T €6,250
QR WI P NAL
3 Befoyre we do caleculation o Fée £hoek we
Ehould analyke dhe <Salrel and Cogt.
Analyge of Laker &£ codt
otk = 3 QF00,000

\) v
COGS [cOP Qoo povfit
T 160,000 T 40,000

(3 Q+00,000 ( TRH,00; 000 X R0%)

— 3¢, 40,000)

\
v v \!
Mmaremalk abouy ovevheads
N\ N\ JCbl€)

EFL,000 T L40,000 945,000



N

\’ N
Cri O pepreciation
D 60000 X [22M Cloxr!'tng)
= 5 #,&O/OOO = T QR¥,000

(39,45,000 —F #,Q0,000)
G Fhs QvoeK

Marenall = S6,%5,000
(1D wagea = T 40,000
(> cagw coLc = = #,20,000
cax\y o7 = 3 14,35,000

anS:CBL&"/\ COP X FQH'P
1o
= F19;2€,000 X /1
= R} 610

£. Valuahon of DN
Cax COP T 19,355,000
+ Admn Ot 5 llg’O/OOD
+ Setling ot 3 do0000
cagwy co& = T QR,6<,000
DN = Caxw CO0LX DCP
1R
= T QRO5;000 X [
= 2 Zb7)K00-
6- Pre-paid gatr promotion expence
Pye— paid expence = o0,000x 2|1

nin

n

= ZFaR; oo,
1 cyediton for goodl
Cyediton = Csv- puy¥ X CPP
12

we o Kxume that marenal congumed = Maktesul
pusehared and all pusChases are PuTChoted-
== 5:6,#32,000 X CQ}]Q__ — 2— ),1&,@0



g Old wages
AnMual wages x Time lag
1
= S yo, 000 R o
= T 4r,000
(OR)

Aleey native fFor  Qoluing Ol wages

when wager axe pavd on the 1L6 off nextt month,
the prevtoud montha 1ttday wager will be ol
7 Imonth and laat day wager wlll be ol oY
O monthe- Bence, on an avevage, hallt oo mon th wagdt
1L Olg.

OfL waget = =X $,40,000 X 00

1R

= F AR L00-
q- 0l Admn expence

Ol¢ Admn expente = T [1€0,000 x'[1
= T |15,6000.

0° _Caxh baiawnce
Cat¥h bodgnee 1L £0°%b of Ccurrent llability.

Theve fore, we can't Ul caty balante unlea
cL t¢& lmown:

Cogw balance = CL X LO%
= T;28,00 X \ve/s
= T [I1b;28D




wOTrking capital cycle — ANAlyYs <

£ B2

process Nol i process No2 ||

work in process work in process work in process work in process

I |,.|I"|'||
RAW-MATERIALS ‘0“@ i L
ik
- e
3 -

, qu;kili;;

(Capita

NOteL 3
% W capital i€ not a Segnant capital but it i< a
tluctuating capital| sotating capital- Foreg, Tt we
invezt in tand € bwilding, the capital i¢ 1ocked in
fOf Co mMany number of Yean and dame & not the
cagte with wo:capital-
% Tn Cale oOf WOTKRINGg capital,
we put come fund i€ cagy to Ctewt the
opesanons - Cescentally in 7aw maenall)
Thie yaw marmal (¢ not immediately
congumed , but i€ Kept in wavehowe for

days [ monthk-




S

‘W\eﬂ that RmM mov& Asom <Liorer 1o factooy
taking the Shape of w-I'P where in we add
othey code like labour and over haadk .

Tt wlll take lome Hme to get converted
into F&¢ and Il then (& ¢tay aL w 1'P
awek and then o completion of papductiov
Pa0CeY, It becomeg F-h and lay as <ctock of
FOS &Gnce [t cant be Lold immediately-
(Salex promotiom, Publicity €t #mall add)

G Then, we ceU The goodt where g2ome Cale
& in Caxy and gome ov) Credit wWhich
then creqres deboyn who witll be collected
at a dutuve Hme: Tt debton pay money,

it becomest catly and then entise cycle will
agaln wselerst -
Thid ¢ called aL '"w - cap cycle'" oralgop
called a4 ''opevatng cycrell.
o, the Summapy (<, caxhh i¢ blocked in Variows
forma for Some number of day. Thesedore, com pany
dont need -Hinance r all 3scdayk, it actually
seqywite fund +o Hnancte +the we cyYcle becawss,
ayter each cycle we get back the caxwn.
N5
Ty) +the above diagtam, total cycle pexnod (g
Fodayk. That meawe , fox the Azxlt 2odays Co,
dont get any Kind of Catutlow: LCuppoce i a
company needk KT K0,00,000 Pq for |Yeas O
poduction, we need not go fov Aull fivance
we need tinancing Hor we < ycle penod- Fn
thig caxe it 1L
36 dawyt > T R0,00,000
#S cays > e
Ng
;Q,lofng.




The amount invetted (e X 41099 wtll come

back in FLdaAYW and agan weinverred. Tt

the company Tedulet the Cycle perxnod morte

factey the collection i¢ and leger the +inancng:
Fovymulae

F RMHEP 4+ WIPHPT FhKRP+ Debtonn = Gooék OP.
034‘\6-

Q- RMHP + WIPHP+ FHAHP + DCP - CPP— fime lag

> RMMWP = RM SDCK . (5 (36
Mmat -cons

g FOHP = FQStock 19 [3hc
coP

CcoP
6. DCP = DeblOW . 5[aeg
C¥-Salet
¥ CPP = Cvedilbn . i3)36s
Cy- pUTChases

g Tlmelag= Of¢expense ., 13/aes
Annmual €xpenie

NO R €

¥ Numeyarmy can be eithey —total [average and
it dependt oM auerHon in exam.

X% QM (oY) 3bE Alféo dependt on TYpe of quethom

¥ WI\P calculation mMay we CcoP | Gk wWorlk
cosc depending on data given in qQuettion.



9. From the AFollowing data computre the opP:cycte

B

Q- W1 P holding pexriod

3. F0S holding pexiod

L Debt coltection peviod

S.

and comment omn

increage | decyease

T in 000%

Pathiculan Yy~ Y-
QoK o RM o) F
Qfoclk o WP |y 1€
Qtoek o F6 | Ay
Purchaser q6 138
COMNS lyo 1 &0
galer (60 KOO
Devon 3 O
Creditor | 6 1
congidey 260 days in Yeax-

tep 12 opesating cycle for yeas —|

cont¥nt

Fovrmula calcUulan o

Rm holding pevod

RmM Srock
RmM cons

0
3360 2= %360
A b

= FL days

Cgince, OPg 4 Clg RM ig agumed as (ame Rm Cong

= R purchare)

WIPSYOCK (260 1G4 o 360
CcoP (yo

= 3bdays.

(Cohg= COP because, It & aeeumed that opg«clg

FG¢ arve Same).

¢y Pyt pexnod

FOS Shrck x360 &1 5 2apo

COGS 140
= Sydays.
Debtdt L2350 32 yapo
Cy-Laled K00
= FRdayk.
cyedion %2360 16 y 360

PUrChaces 96
= 60da Y



woTUing capital cycle
RMHP + tolPHP + F&HP + DCP—-CPP
Fsday + 2bdays + sydays + Fa2day — eodayt

mnon

(% dayk.
content Formula calculat om
I RmM holding penod Avgaroek o g_x%o
(Refer wN 1) RM CONS
= 66 days
Q. WI P holding pexiod AVQWIP a0 L6 4 360
(Reder O N ) CoP 13
= 3l days.
3. F0S holding pexiod AV FOC v apo  RRSD .y ap0
(Reder WN 3) COGS |80
= 4s dabd'ﬁ-
L+ Debt coltection perod AV DR wapo0 41 yx2p0
CRefes WON ) Cy-Lales A00
= F4 dayk.
s- Y. Pyt penod AVQC'KS n360 l.‘:f 360
PUrchades |3;
= yodays
working Notes
- AVg Stk 4 RM contumed
o-Avg Stock = opet telg<t  Q04%F | Q3.%0
2 2
b. Matevxial condumed = OPLL + purchages —Cl Lt
= R0 4+ 12T — Q%
= (a8
& Avg WIP 4 CoP
a Avg wIP = OpwIPFCWIP _ 14418 _ ¢

2 2



b CoP + Op: Fhe — Cl FOg COKnS
Colt) Cgiven)  Cgtvend Caiven?

n

CoP + 3| — Yy = (8p
COP = 182
3 Avg- F&<
op FG tcClg Fh Yy - 23:Xp
2 9\
4+ Debt collectiom PcHOd.— Al Caler ase aKumed ag
cyedit -
AVg Debmow = 0pg.DY + £19- DY
2
= 321480 _ g

2
S- Ccyedit payment period — All purehale’d are
agumed ok Credit-
AVg Cred) D = OPCY + Clg-C¥
2
= tb +1€ _ 1.
2

woTUiNg capital cycle
RMHP + toIlPHP + F&HP + DCP — CPP

bbdayt + 3ldays + ySday +F4day —ySday
1 dayk.

mnon



